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Year 5 and 6 (ENGLISH VERSION)
Thursday, 19th March 2020 Time allowed: 75 minutes

1. For each question exactly one of the 5 options is correct.

2. Each participant is given 24 points at the beginning. For each correct answer 3, 4 or
5 points are added. No answer means O points are added. If a wrong answer is given,
one quarter of the points is subtracted, i.e. 0.75 points, 1 point or 1.25 points, respectively.
At the end, the maximum number of points is 120, the minimum is O.

3. Calculators and other electronic devices are not allowed.

3 point problems

Which of the following calculations has an odd number as its result?
(A) 21 +20+19 (B) 21 x20x 19 (C)21420—-19
(D) 21 +20x19 (E) 21 —20+ 19

As Fabian is walking from Atown to Betown he passes the five signposts shown.
Four of the signposts show the right distances. One of them is incorrect. Which one?

Atown 5 km Atown 8 km Atown 9 km

Atown 2 km Atown 3 km

Betown 4 km

(E)

Betown 9 km Betown 8 km Betown 6 km Betown 3 km

(A) (B) (C) (D)

- In which picture is the area of the shaded part the largest?

(A)E (B)E (C)ﬁ (D)i (E)

Jennifer colours each region of the pattern on he right either red,
blue or yellow. She colours regions that touch each other with
different colours. She colours the outer region blue. How many
regions of the completed pattern are coloured blue?

(A) 2 (B) 3 (C) 4 (D) 5 (E) 6

Victor owns several blocks which are 5cm or 7cm high. He uses some
of them to build a tower. Which of the following heights can this tower
certainly not have?

(A) 10cm (B) 12cm  (€C) 13cm (D) 14cm  (E) 15cm
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On the piece of graph paper a square should be coloured that consists
of exactly 4 boxes and does not contain an ink blot. How many possi-
bilities are there to do this?

(A) 5 (B) 7 (C) 10 (D) 12 (E) 13

Y

“I hide 17 gummi bears in my hand”, says my brother, “a different number of each
colour.” How many colours can there be at most?

(A) 2 (B) 3 (C) 4 (D) 5 (E) 6

Looking for Easter eggs Max only finds one egg, Jule finds 4 eggs, Fredy 6 and Lotta 9.
Afterwards they pass on eggs between each other such that everyone has the same
number of eggs. What is the smallest number of eggs that need to be passed on?

(A)3 (B) 4 ()5 (D) 6 (E)7

4 point problems

%K
Amy puts 6 stickers % CSJ
onto the faces of a die. On the right the die is pictured twice. .

Which sticker is on the opposite side of the mouse?

(A) CS: (B) (C) (D) (E) %

While cleaning up Bjarne finds 10 sheets of paper. Some are large, the others small.
He cuts every large sheet into 4 small sheets. Afterwards, there are 22 small sheets
in total. How many large sheets did Bjarne cut?

(A) 2 (B) 4 (C)5 (D) 7 (E)8
T
Tiko and Kim marked a racetrack in the forest. They start at the
same time, Tiko from point T, Kim from point K. Kim runs 3 times
as fast as Tiko. Where do they meet? A B
(A) at point A (B) at point B (C) at point C ¢ E
(D) at point D (E) at point E

K D

Fiona has two equally shaped pieces of wire I LI I LI She puts them together

in different ways. Which of the following shapes can she not obtain?

w1 Bel—J ol 5eb—delns
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Joris has 27 equally sized cubes, namely 10 white, 9 grey and 8 black cubes. Using these

cubes he builds one of the following large cubes. Which one?

(A)ﬁ (B)@ (C)@ (D)@ (E)@

- When the bat Elise left her cave in the evening, the digital clock in her cave showed

20:20 . When she came back on that very night and, in order to rest, hung upside
down, she saw on the clock 80:20 again. How long has Elise been outside?

(A) 5 hours and 42 minutes (B) 4 hours and 30 minutes
(C) 4 hours and 2 minutes (D) 3 hours and 50 minutes
(E) 3 hours and 32 minutes

After the training we went for ice cream, one scoop for each. QF%F “ @‘

We ordered 4 scoops of vanilla, 3 scoops of chocolate, 2 scoops of QFQF ‘
lemon and 1 scoop of mango. The ice cream seller put 1 topping

on each scoop. He used 4 umbrellas, 3 cherries, 2 wafers and 1 chocolate chip. All decorated
scoops were different. Which of the following combinations did we not have?

(A) chocolate with cherry  (B) mango with umbrella  (C) vanilla with umbrella
(D) lemon with wafer (E) vanilla with chocolate chip

The numbers 1, 2, 3, 7, 9 and 12 should be written into the empty "’ ‘
circles. Thereby the sum of two numbers in adjacent circles must \ ,

be the same as the sum of the numbers in the two opposite circles.
Which number must be written in the circle with the question mark?

(A) 1 (B) 2 (C) 7 (D) 9 (E) 12
5 point problems
A
In her small square garden Mrs Cress built three small square patches /) .
for vegetables and herbs, as shown. How long is the path to the patch o% 5 =
in the middle? 3
Lo
(A) 6.75m (B)6.50m (C)6.25m (D)6.00m (E)5.75m ——— —
10m

In the safari park Freya counts all ostriches and zebras — in total 12 animals. Carla counts
all ostriches and gnus — in total 22 animals. Marian counts all zebras and gnus — in total
24 animals. Nathan counts all ostriches, zebras and gnus. How many animals does
Nathan count?

(A) 26 (B) 29 (C) 34 (D) 48 (E) 52
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length are each filled with one litre of juice. The diagram on the right
shows the view from the front. One of the following diagrams shows the
view from above. Which one?

(A).DI (B)ID. (C). [ ] (D)I Bl .

An elf and a troll meet. The troll always lies, the elf always tells the truth. Both of them
say the exact same phrase. Which of the following phrases could that be

Three cuboid glass boxes of equal height and width, but of different u u

(A) You always tell the truth. (B) Both of us tell the truth.
(C) I always lie. (D) I tell the truth.
(E) One of us tells the truth, the other one lies.

Mehmet folds a piece of paper, as shown. In the grey
box he writes 1. In the other boxes he wants to write
the numbers from 2 to 9, such that after folding the
paper all nine numbers are in ascending order below
each other. Which numbers should a, b and ¢ stand for?

b
(A)a=6,b=4,c=8 (B)a=4,b=6,c=38 @W 1
(C)a=5b=7,c=9 (D)a=2,b=8,c=6

(E)a=6,b=4,c=7

C

At the chess tournament in school Yara needs to play 15 matches in total. So far she
tied twice, won half of the games and lost one third of the games. How many games
does she still need to play?

(A) 2 (B) 3 (C)5 (D) 6 (E) 9
On the table there are 9 game chips, each having one black face and O
one white face, as shown on the right. In each move exactly 3 chips o

are flipped upside down. In the end all chips should face up with the o » O O
same colour. What is the smallest number of moves that are needed
to reach this? -

(A) 6 (B) 5 (C) 4 (D) 3 (E) 2 o
A 4-digit number is called bellied if the sum of the two inner digits is larger than the

sum of the two outer digits. What is the largest number of consecutive bellied 4-digit
numbers?

(A) 78 (B) 80 (C) 89 (D) 100 (E) 101



